AIMENAZ AAIEYTIKQN ZKAOQN

AMNOBAGPA EKOOPTQIHE

\
8
e popm ® 5 Sl
S \
— /
02] \
1o 0gme @ \
\
I \
®
™ =6 21m2 8 \
az—— 9
3 SONEIOF
™ £=6,21m2 ® = »x_q, c»w \

OKAA A.E

YMNOK. IXOYOZKAAAZ MATPQN
2KAPIOHMA XQPOOETHZHZ MPAGEIQN OPODOY

2YMBOAIZMOZ XQPOY

KAGAPO EMBAAON

MNAPATHPHZEIZ

% E=6.21m?

01
02
03
04
05

12.98 T..
12.98 T..
6.21 T.p.
6.21 T.j.
6.21 T.J.
6.21 T.J.
6.21 T.p.

S1aB£a1io Npog evoikiaon
un d1aboipo
un d1aBéaipo
un d1aBgaipo
M dlaBEaipo
un d1aboipo
d1aB£aIo Npog evoikiaon

W.C. - KOIVOXPNOTO

0 E=6.21m?

®
AIAAPOMOZ

BBl Bl &l = =l
®

W.C.

ANO/MPOX
1XOrEI0

PAMIA ®OPTQZHZ OXHMATQN




